HISA(HN)-08

West Bengal State University
B.A./B.Sc./B.Com ( Honours, Major, General ) Examinations, 2015

PART - III
HISTORY — HONOURS
Paper - VIII
( NEW & OLD SYLLABUS )
Duration : 4 Hours | ; [ Full Marks : .100
Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.

Tea TUPTE frer AT (AT AT |
AT AT ST e |
( NEW SYLLABUS )
Answer Q. No. 1 and any four from the rest.
st o @ SRR (X W s ervew S e

Group-A
et - =
) 2 Answer any four questions : 4x5=20
@ (W orafb erew Ted i
a) What is meant by the 'Tribute System' ?
TG A’ TS P @M 2
b) What was Junk trade in China ?
Siea e e 4 et 2
c) Write a short note on the Treaty of Nanking.
i g Bom @3l swefwe Bizer forge
d) Was the Yenan experiment in China a new social model ?
Bt Brr orfrmn- e 5 @b Ao wifene sowet foet 2
e) What is meant by the rule of the warlords in China ?

B TR 1 9100 A @ 2

f) Explain the significance of the Perry Mission (1853) in Japan.
BIOTE (ofera FeTa (sveo) w1eoRy A e |

g How did 'Zaibatsu' rise in Japan ?
GO RA'T T ez

h) Analyse the background of the Washington Conference (1921-1922).
ST STIEAET (3535-553%) (&I Rraraer 7|
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Group-B
fastet - 2
Answer any four questions.

@ @ B oo Beg fi |

How was central and local government structured under the Ching rulers ?

4 x 20 = 80

2.
e WP AN (FRIT @ NN SRR PN (5 7T 7.

3, Do you think that British mercantile and industrial interests played a role in the
outbreak of the Opium War ? Was Opium question an additional issue in the
Opium War ? 10 + 10
oy e o oW (1 Sifeer Iow Rt afifere g Prvre ey @ g e 2
@2 ym s e o & @l wfefire Ram 2o nfwfe 2

4, How would you explain the weaknesses in the process of Chinese
industrialisation in the early 20th century ?
faron wrerita coera fies Bia P efEr ydeeref wof e anam 9 2

55 What were the far-reaching effects of the May Fourth movement in Chinese
history ?

B &feR1er o el SR R wenee 6 e et 2

6. Account for the differences in the Chinese and Japanese responses to the
Western impact.
siPsTereata off 517 @ wei fReerea s fecafest AR Sl 796 |

7 How central was the role of the state in determining the nature of Japan's
economic development in the late 19th century ?
TR e crar eneeT wetAfew Same A G wodr a7 e, o el
T | <

8. What were thi ;i : 3
aftermathreof tehcm;_}:;-ﬁ s;i;;;%g:‘;ﬁ"“g;; programmes undertaken in the
implications of these e abolish Feudalism ? What were the
EfE Pl 10 + 10

T A XOIAT Sven s e ovay snferss @ TR i
IR 1 TQM 2 @ sifdaéralm wesf
9. Discuss the background and dschaboad
: nd and effects of the Sj
Ter i : Sino-Japanese war of 1894.95,
-3¢ TR bi-Byje
10, Explain the O G @32 3ot sy 10
growth of militarism i 7 |
TR ol @ sfirare apan during the 1930
I SN Ay s and 1940g
0T 3wy | g
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( OLD SYLLABUS )

Answer Q. No. 1 and any four from the rest.
ST o @ TR (T (P Biafd oo Ted ot |

20 =80 Group-A
e -
L2 T Answer any four questions : . 5=20
@ @W o eve s i
fe in the a)  Discuss the causes of the fall of Weimer Republic.
e SRR STOTE SO RS AT |
il 2= 2 b) What was the significance of Dawes Plan ?
e s o%y @ @ 2
Chinese <) Analyse the importance of Locarno Pact (1925) in European politics.
e SSeTy ToeTs T pied e Rt 37|
Chiiviene d) What was the significance of the Spanish Civil War in international
politics ?
SIS AT Coiea TRy Slesy 6 fet 2
s to the e) Why was NATO formed ?
- @ fYe FaiEE
f) What do you understand by 'Cuban Missile crisis' ?
Japan's ‘RGO e’ <9106 36 A 2
; g) What is meant by 'Great Leap Forward' ?
‘calt forst FRGAS’ FCS 6 @M 2
y h) Write a short note on terrorism.
s t:: sEPrR-aq o @3l A<fre Bt e |
10+ 10 : Group-B
& ! et - 4
: Answer any four questions. 4 x 20 =80
Beiio 1 @ oAl v Taw e |
2 What measures did France adopt to overcome her sense of insecurity after
1919 ? How did these measures affect European diplomatic relations during the
period between the two World Wars ? 10 + 10

335 GRS T frem el wer 5@ W o 6 R omrws e 2 ®
R TS orficy BT PO TRIET O P ewiRs et 2
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